pcibsc(4) pcibsc(4)

pcibsc — Binary Synchronous Communication(BSC) device driver for PCI14101

#include "/usr/local/CNC/drivers/pcibsc_driver/driver/pcibsc.h"

/dev/pcibsc[0-3] JCA ,BSC
BSC
PCI

SW SW
PCI-4101

pcibsc /usr/local /CNC/drivers/pcibsc_driver

/usr/local/CNC/drivers/pcibsc_driver/driver/pcibsc_start
Loading module pcibsc ...
Warning: loading /usr/local/CNC/drivers/pcibsc_driver/driver/pcibsc.o will
taint the kernel: non-GPL license - Concurrent Computer Corporation

See http://www.tux.org/lkml/#export-tainted for information about tainted
modules

Module pcibsc loaded, with warnings



# cat /proc/pcibsc

version: 1.00
built: Jan

boards: 1
board #0

ch

sw: O
#0
TxClock:
RxClock:
TxSpeed:
RxSpeed:
SyncMode:
STOP:
DATA:
PARITY:
SYNC:
SYNCCODE:
TimeoutO:
Timeoutl:
Timeout2:

Timeout3:

Timeout4:

Timeout5:

Timeout6:
Timeout7:
BlockSize
MAXBID:
MAXREXMIT:
MAXWACK:

7 2004, 17:32:07

BRG

RT
9600 bps
0 bps
BSC
NONE

8

NONE
DOUBLE
0x3232
1 sec
3 sec
3 sec

30 sec

2 sec

3 sec

1 sec

3 sec

256 bytes
7

7

15

MAXENQUIRY: 7

/proc/pcibsc

PC

DISK
DISK

WACK
DISK

DISK

BSC
BID

NAK
WACK

SW
(BRG/ST/RT)
(BRG/ST/RT)
(0,1200-19200)

(0,1200-19200)
(BSC/ASYNC)

(SINGLE/DOUBLE)
codel

CALLING BID
CALLED BID ENQ

CALLED BID ENQ

CALLING BID

ENQ



ch

MAXWAIT:
MAXTTD:
ETB:
DISK:
TRANSPARENT:
RTS_CONTROL:
CoS
CRC_MODE

#1
TxClock:
RxClock:
TxSpeed:
RxSpeed:
SyncMode:
STOP:
DATA:
PARITY:
SYNC:
SYNCCODE:
TimeoutO:
Timeoutl:
Timeout2:

Timeout3:

Timeout4:

Timeout5:

Timeout6:
Timeout?7:
BlockSize
MAXBID:
MAXREXMIT:
MAXWACK:
MAXENQUIRY:

BRG

RT
9600 bps
0 bps
BSC
NONE

8

NONE
DOUBLE
0x3232
1 sec
3 sec
3 sec

30 sec

2 sec

3 sec

1 sec

3 sec

256 bytes
7

7

15

7

BID ENQ

TTD NAK
1:ETB/0:ETX
DISK ON/OFF
ON/OFF
RTS ON/OFF(1: ON/0:
Ch  DSR

0:XM+XB4+X%+1  L:XMo+XP24X5+1
3:X¥®+XB+X%+1 SC-8210
4:X1+X124X%+1 SC-8210

(BRG/ST/RT)

(BRG/ST/RT)
(0,1200-19200)
(0,1200-19200)

/ (BSC/ASYNC)
(SINGLE/DOUBLE)
codel

DISK CALLING BID
DISK CALLED BID ENQ
WACK
DISK CALLED BID ENQ
DISK CALLING BID
BSC
BID ENQ

NAK

WACK

ON)



MAXWAIT:
MAXTTD:
ETB:
DISK:

7
15
1
1

TRANSPARENT -1
RTS_CONTROL:1

CoS
CRC_MODE

SC-8210

:0
:0

BID ENQ

TTD NAK
1:ETB/0:ETX
DISK ON/OFF
ON/OFF
RTS ON/OFF(1: ON/O:  ON)
CD DSR

0:XM+XB4+X%+1  L:XMo+XP24X5+1
3:X¥®+XB+X%+1 SC-8210
4:X1+X124X%+1 SC-8210

CRC DLE



D

2)
3)
4)
5)
6)

)

8)

9)
10)
11)RS
12)
13)
14)
15)

2400BPS
9600BPS

ACKO ACK1 NAK

CRC

EBCDIC
SYN
DLE
STX
ETX
ETB
ACKO
ACK1
EOT
ENQ
NAK
WACK
RVI
TTD

LSB(

ON/

SYN
OxFF

X16+X15+X2+1

0x32

0x10
0x02(
0x03(
0x26(
0x10 0x70
0x10 0x61
0x37

0x2D

0x3D

0x10 0Ox6B
0x10 0x7C
0x02 0x2D

X16+X12+X5+l

0x10 0x02)
0x10 0x03)
0x10 0x26)

CCITT V24 )

ON

CCITT V26 BIS
CCITT X21 BIS



0o N o o1~ W DN

-
ol

17
20
22
24

CHO
FG
TxD
RxD
RTS
CTS
DSR
SG
CD
ST2
RT
DTR
Cl
ST1

ST1

IN/OUT

FG COMMON
D ouT
RxD IN

RTS ouT
CTS IN

DSR ouT

SG COMMON
cD IN

ST2 IN

RT IN

DTR ouT

Cl IN

STl ouT

CH1
FG
TxD
RxD
RTS
CTS
DSR
SG
CD
ST2
RT
DTR
Cl
ST1



L3 L1 L2 L4
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L3 L1 L2 L4
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1) ACKO/ACKL( )

BSC

ACKO/ACK1

ACKO LINE BID

2) DLE EOT

DLE EOT

3) ENQ
LINE BID

4) EOT

5) NAK( )

TTD

6) RVI
RVI  ACKO,ACK1

RVI ENQ

EOT

ACKO

ACK1

ACK1

BID

LINE BID

WACK

CRC

RVI



7) STX DLE STX(

8) SYN
SYN
9) TTD( )
TTD
TTD NAK
10) WACK( )
WACK
11) ETX DLE ETX(
STX DLE STX
12) ETB DLE ETB(
STX DLE STX
13) DLE

Data Link Escape
DLE

SYN

NAK

CRC

EOT

BID

DLE DLE

ENQ

TTD

BID



b)

8.

a) BID
CALLING
1) CALLING
2) CALLED

WACK

3) CALLING

ACKO
ACK1

ENQ
MAXBID
4) CALLED

5) CALLING
CALLED

ENQ
CALLING

D

NAK
DLE EOT

2)

MAXWACK

MAXBID

DLE

CALLED

NAK

WACK

CALLING

CALLING
EOT

TOUT2
DLE EOT

EOT

CALLING

ENQ

ENQ
ACKO

NAK

DLE EOT

TOUT3

TTD

ENQ

ENQ

ENQ

EOT
CALLED

GCALLING
ENQ

MAXTTD

WACK
WACK
MAXENQUIRY

TTD

TTD

ENQ

MAXBID

DLE EOT

AP1
BID

DLE EOT



3)

4)

5)

6)

)

8)

9

ENQ

RVI

RVI

MAXTTD

EOT

ENQ

WACK

MAXWACK

NAK
MAXREXMIT DEOT
ACKO,ACK1
MAXENQUIRY EOT BID
RVI
AP1
(ACK0/1)
EOT BID
TOUT4 WACK
(read())
API
ENQ
ENQ( ENQ)
TTD MAXTTD NAK
DLE EOT



OPEN/CLOSE

pcibsc open/close

10CTL_PCIBSC_RESET

READ/WRITE
BSC
read/write
/ ACKO/ACK1 BSC
CALLING 512
256
CALLING CALLED
write(wfd,send,512); read(rfd,recv,512);
BID
line bid(); accept_line_bid();
[ENQ] -
~ [ACKO]

[STX][textl/2][ETB][CRC1][CRC2] —
— [ACK1]
[STX][text2/2][ETX][CRC1][CRC2] —
 [ACKO]
[EOT] -

[DLE][STX][text1/2][DLE][ETB][CRC1][CRC2] -
« [ACK1]
[DLE][STX][text2/2] [DLE][ETX][CRC1][CRC2] -
« [ACKO]
[EOT] -

ETB
10CTL_PCIBSC_ETB ETB ETX



10CTLS
pcibsc ioctl()

1) SIGIO

DSR
CTR
SYNC/

ret = ioctl(FD, 10CTL_PCIBSC_REQ INT_NOTIFY,pcibsc_int_info_t)
typedef struct
{

unsigned long int init;//0 = , else

unsigned long int irq; //

unsigned long int status; //

} pcibsc_int_info_t;

int_enable.init = 1;
ioctl(FD, 10CTL_PCIBSC REQ INT NOTIFY,&int_enable);

int_enable.init = 0;
ioctl(FD, 10CTL_PCIBSC REQ INT NOTIFY,&int_enable);

2)SIG10

ret = ioctl(FD, 10CTL_PCIBSC_REQ INT_STATUS,pcibsc_int_info_t)
typedef struct
{

unsigned long int init;//0 = , else

unsigned long int irq; //

unsigned long int status; //

} pcibsc_int_info_t;



3) AST
ret = ioctl(FD, 10CTL_PCIBSC_DCLAST,pcibsc_ast t *)
typedef struct
{
volatile unsigned long int timeout; // 0 = ,else
volatile unsigned long int pending;
volatile unsigned long int status;

} pcibsc_ast _t;

ast_enable.timeout = 1;
ioctl (fd, IOCTL_PCIBSC_REQ INT NOTIFY,&int_enable);

ast_enable.timeout = 0;
ioctl (fd, IOCTL_PCIBSC_REQ INT NOTIFY,&int_enable);

4) AST
ioctl(FD, 10CTL_PCIBSC_DELAST);

ret

5)AST
ret = ioctl(FD, 10CTL_PCIBSC_PAUAST,pcibsc_ast t *)
typedef struct
{
volatile unsigned long int timeout; // 0 = ,else
volatile unsigned long int pending;
volatile unsigned long int status;
} pcibsc_ast _t;
timeout

ast.timeout timeout
ret == ret==-1
timeout

ast.timeout

ast.pending



AST

a)

if (sigprocmask(0,NULL,é&set)==(-1))

{
fprintf(stderr, "Cannot get sigprocmask - %s",strerror(errno));
return(-1);

}

sigdelset(&set,SIGI0);
if (sigprocmask(SIG_SETMASK,&set,&oset)==(-1))
{
fprintf(stderr, "Cannot set sigprocmask - %s",strerror(errno));
return(-1);

sigemptyset(&newact.sa mask);
sigaddset(&newact.sa_mask,SIGI0);
newact.sa _handler = interrupt_hadler;
newact.sa flags = SA SIGINFO|SA RESTART;
if (sigaction(signo, &newact, 0)==(-1))

{
fprintf(stderr, "Cannot set sigaction - %s",strerror(errno));
return(-1);

}

it (fentl (fd, F_SETOWN, getpid()) !'= 0)

{
fprintf(stderr,"Error %s : Process ID = %d ",strerror(errno), getpid());
return(-1);

}

/* Register signal */

flags = fentl (fd, F_GETFL);
if ( flags == -1)

{



fprintf (stderr,"Error : %s",strerror(errno));
return(-1);

}

if ( fentl(fd, F_SETFL, flags | FASYNC) == -1)

{
fprintf (stderr,"Error : %s",strerror(errno));
return(-1);

}

int_enable.init = 1;
ioctl (fd, I0CTL_PCIBSC_REQ INT NOTIFY,&int _enable);

pcibsc linux
kill_fasyc()
kill_fasync()

signal

ioctl (fd, I0CTL_PCIBSC_REQ INT_STATUS,extmem_int_info_t) SIGIO

signal

6)
ioctl (FD, 10CTL_PCIBSC_GET DEV_INFO,pcibsc_dev_param t *)
typedef struct

{
unsigned long int TxCM;/* 0: BRG 1:ST2 2:RT */
unsigned long int RXCM;/* 0: BRG 1:ST2 2:RT */
unsigned long int TxSP;/* (0,1200-19200) */
unsigned long int RxSP;/* (0,1200-19200) */
unsigned long int SYNCCODE; codel, code2
unsigned long int SYNC;/* (1:SINGLE/2:DOUBLE) */
unsigned long int STOP;

/* O:none 1:1bit 2: 1.5 bits 3:2bits*/

unsigned long int DATA;/* 50or6or7or8*
unsigned long int PARITY;/* 0:none 1:odd 2:even */
unsigned long int MODE;/* O: x1 x16 x64 */

unsigned long int TOUTO;/* */



unsigned long int TOUTL;/* */

unsigned long int TOUT2;/* CALLING BID */

unsigned long int TOUT3;/* CALLED BID ENQ */

unsigned long int TOUT4;/* WACK */

unsigned long int TOUT5;/* */

unsigned long int TOUT6;/* */

unsigned long int TOUT7;/* */

unsigned long int BLOCKSIZE;/* BSC */

unsigned long int MAXBID;/* BID ENQ */

unsigned long int MAXREXMIT;/* NAK */

unsigned long int MAXWACK;/* WACK */

unsigned long int MAXENQUIRY;/* */

unsigned long int MAXWAIT;/* BID ENQ */

unsigned long int MAXTTD;/* TTD NAK */

unsigned long int DISK;/* DISK 1:0N/0:0FF */

unsigned long int ETB;/* 1:ETB/0:ETX */

unsigned long int TRANSPARENT;/* 1:ON/0:0FF*/

unsigned long int RTS_CONTROL;/* RTS ON/OFF(1: ON/0: oN)*/
} pcibsc_dev_param_t;

/proc/pcibsc

)
ioctl (FD, 10CTL_PCIBSC_SET DEV_INFO,pcibsc_dev_param t *)

8) LSI
ioctI(FD, 10CTL_PCIBSC_RESET)

int fd;

pcibsc_dev_param_t info;
fd = open(device_name,0 _RDWR);
if (fd<0)

{

fprintf(stderr,"%s open fail %s¥n",device name,strerror(errno));
exit(0);



if(ioctl(fd, 10CTL_PCIBSC_GET_DEV_INFO,&inf0)<0)

,strerror(errno));

,strerror(errno));

{
fprintf(stderr,"ioctl fail %s¥n"
}
info.TxCM = 0;
info.TxSP = 9600;
info.RxCM = 2;
info.RxSP = 9600;
info.SYNC = 2;
if(ioctl(fd, 10CTL_PCIBSC_SET DEV_INFO,&info)<0)
{
fprintf(stderr,"ioctl fail %s¥n"
}

if(ioctl(fd, 10CTL_PCIBSC_RESET)<0)

{
fprintf(stderr,"ioctl fail %s¥n"

9)CALLING  BID
ioctl(FD, I0CTL_PCIBSC_LINE_BID, int*)
ACK

,strerror(errno));

ACK1

I0CTL_PCIBSC_WRITE  10CTL_PCIBSC_SENDEOT

Int enum bscstate

bid

enum bscstate {ABORT,KEEP,CONTINUE,WAIT,GOBID};

CONTINUE
GOBID RVI
ABORT DLE EOT

10)
ioctl (FD, 10CTL_PCIBSC WRITE,pcibsc_rw_t*)
typedef struct

{
unsigned long int stat; /*
unsigned long int length; /*
char *buffer; /*

} pcibsc_rw_t;

EOT

*/
*/
*/



pcibsc rw t stat

enum bsdstaet

CONTINUE ( ACKO/ACK1 )
GOBID RVI
EOT
EOT
ABORT DLE EOT
256
if(ioctl(fd, 10CTL_PCIBSC_LINE_BID,&status)<0)
{
fprintf(stderr,"ioctl fail %s¥n",strerror(errno));
}
if (status!=SUCCESS)
{
fprintf(stderr,"status error 10CTL_PCIBSC_LINE BID status %d¥n",status);
}

rw.buffer = &text[0];
rw.length = TEXT_SIZE/2;
rw.stat = 1;
if(ioctl(fd, 10CTL_PCIBSC_WRITE,&rw)<0)
{
fprintf(stderr,”10CTL_PCIBSC_WRITE fail %s¥n",strerror(errno));
}
printf("1l: rw.stat %d¥n",rw.stat );
rw.buffer = &text[256];
rw.length = TEXT_SIZE/2;

rw.stat = 1;/* */
if(ioctl(fd, I0CTL_PCIBSC_WRITE,&rw)<0)
{

fprintf(stderr,”10CTL_PCIBSC WRITE fail %s¥n",strerror(errno));
}
printf(""2: rw.stat %d¥n",rw.stat );
if(ioctl(fd, I0OCTL_PCIBSC_SENDEQT)<0)

{
fprintf(stderr,”10CTL_PCIBSC_SENDEOT fail %s¥n",strerror(errno));



11) CALLED BID
ioctl(FD, I0CTL_PCIBSC_ACCEPTLINE_BID, int*)
10CTL_PCIBSC_READE

Int SUCCESS FAIL  bid
SUCCESS ENQ
FAIL ( DLE EOT )
ioctl(FD, I0CTL_PCIBSC_DISK,0) DLEEOT  OFF
« ) DISK  OFF
12)

ioctl (FD, 10CTL_PCIBSC READ,pcibsc_rw_t*)
typedef struct

{
unsigned long int stat; /* */
unsigned long int length; /* */
char *buffer; /* */
} pcibsc_rw_t;
pcibsc rw t stat enum bsdstate
CONTINUE ( ACKO/ACK1 )
GOBID EOT
ABORT DLE EOT
WAIT SIGINT Signal WACK

if(ioctl(fd, 10CTL_PCIBSC_ACCEPTLINE_BID,&status)<0)

{
fprintf(stderr,"ioctl fail %s¥n",strerror(errno));
}
if (status!=SUCCESS)
{
fprintf(stderr,"10CTL_PCIBSC_ACCEPTLINE BID status %d¥n",status);
}



do{
rw.buffer = &text[i];
rw.length = TEXT_SIZE*2;
rw.stat = 0;
if(ioctl(fd, 10CTL_PCIBSC_READ,&rw)<0)
{
fprintf(stderr,
"10CTL_PCIBSC_READ fail %s¥n",strerror(errno));
}
printf("'rw.length %d¥n",rw.length );
printf("rw.stat %d¥n",rw.stat );
i += rw.length ;
rw.length -= rw.length;
} while(rw.stat==CONTINUE);

13) CCITT25BIS
ioctl(FD, 1I0CTL_PCIBSC_WRITE_CCITT25BIS, pcibsc_rw_t*)
ioctl(FD, I0CTL_PCIBSC_READ_CCITT25BIS,pcibsc_rw_t*)

static int dialup(int fd,unsigned char *tel)
{

static unsigned char cmdbuf[32];

int len;

pcibsc rw_t rw;

memset(cmdbuf,0x00,32);
strcat(cmdbuf,""CRN™);
strcat(cmdbuf,tel);
strcat(cmdbuf,”N™);

rw.buffer = cmdbuf;
rw.length = strlen(cmdbuf);
if(ioctl(fd, 10CTL_PCIBSC_WRITE_CCITT25BIS, &rw)<0)
{
fprintf(stderr,
"10CTL_PCIBSC_WRITE_CCITT25BIS fail %s¥n",strerror(errno));



}
if (rw.stat==FAIL)
{

return(FAIL);
}
memset(cmdbuf,0x00,32);
rw.buffer = cmdbuf;
rw.length = 32;

if(ioctl(fd, 10CTL_PCIBSC_READ_CCITT25BIS,&rw)<0)

{

}

fprintf(stderr,

"10CTL_PCIBSC_READ CCITT25BIS fail %s¥n",strerror(errno));

if (rw.stat == FAIL)

{

if ( strcmp(emdbuf,"CFIET™) =

fputs(™

fputs("

return(FAIL);
}

if ( strcmp(cemdbuf,"CFINS™) =

fputs(™
return(FAIL);
}

if ( strcmp(emdbuf,"CFINT™) =

fputs("
return(FAIL);
}

if ( strcmp(cemdbuf,"CFICB™) =

fputs(™
return(FAIL);
}

if ( strcmp(emdbuf,"CFIRT™) =

fputs(™
return(FAIL);

0) {

0) {

0) {

0) {

0) {

¥n",stderr);

", stderr);

¥n",stderr);

¥n",stderr);

¥n",stderr);

¥n",stderr);



if ( strcmp(emdbuf,"CFIAB™) == 0 ) {

fputs(™
return(FAIL);

}
fputs('¥n

¥n",stderr);

14)

fputs('¥n
¥n",stderr);
return(FAIL);

}

return(SUCCESS);

ioctl(FD, I0CTL_PCIBSC_ETB, int)
ioctl(FD, 10CTL_PCIBSC_DISK, int)

joctl(FD, I0CTL_PCIBSC_TRANSPARENT, int)
ioctl(FD, I0CTL_PCIBSC_RTS_CONTROL, int)

15)

a)
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,
ioctl(FD,

API

10CTL_PCIBSC_SENDSYN)
10CTL_PCIBSC_SENDSTX)
10CTL_PCIBSC_SENDETX)
10CTL_PCIBSC_SENDETB)
10CTL_PCIBSC_SENDEOT)
10CTL_PCIBSC_SENDNAK)
10CTL_PCIBSC_SENDENQ)
10CTL_PCIBSC_SENDWACK)
10CTL_PCIBSC_SENDDISK)
10CTL_PCIBSC_SENDRVI)
10CTL_PCIBSC_SENDACKO)
10CTL_PCIBSC_SENDACK1)
10CTL_PCIBSC_SENDTTD)

ETB/ETX

DLE EOT
/

1:RTS

ON/OFF

SYN(0x37)

DLE STX or STX(0x02)
DLE ETX or ETX(0x03)
DLE ETB or ETB(0x26)
EOT(0x37)

NAK(0x3D)

ENQ(0x2D)

WACK(0x10 0x6B)

DLE EOT(0x10 0x37)
RVI(0x10 0x7C)
ACKO(0x10 0x70)
ACK1(0x10 0x61)
TTD(0x01 0x2D)

¥n",stderr);

(1:ETB,0:ETX)

(0:0FF 1:0N)
0: ,1:
ON 0:

ON



b) raw
ioctl(FD, I0CTL_PCIBSC_SENDDATA,pcibsc_rw_t*)
typedef struct

{
unsigned long int stat; /*
unsigned long int length; /* */
char *buffer; /*

} pcibsc_rw_t;

pcibsc rw t stat

FAIL SUCCESS

SUCCESS

FAIL
text[0]=CHR_SYN; /* SYN */
text[1]=CHR_SYN; /* SYN */
text[2]=CHR_DLE; /* DLE */
text[3]=CHR_STX; /* STX */
for(i=0;i<256;i++)
{

text[i+4]=(unsigned char)i;

}
text[4+256+0]=CHR_DLE; /* DLE */
text[4+256+1]=CHR_ETX; /* ETX */
text[4+256+2]=0x91; /* crc */
text[4+256+3]=0x42; /* crc */
text[4+256+4]=0xFf; /* PADT */

rw.buffer = &text[0];
rw.length = 256+9;

rw.stat = 30;
if(ioctl(fd, I0CTL_PCIBSC_SENDDATA, &rw)<0)
{

fprintf(stderr,”ioctl fail %s¥n",strerror(errno));



©)

ioctl(FD, I0CTL_PCIBSC_RECVCTRL,pcibsc_rw_t*)

typedef struct

{
unsigned long int stat;
unsigned long int length;
char *buffer;

} pcibsc_rw_t;

pcibsc rw t stat

( enum bsdstate )
STAT_ENQ ENQ
STAT _EOT EOT
STAT_NAK NAK
STAT_STX STX
STAT ETX ETX
STAT_ACKO ACKO
STAT_ACK1 ACK1
STAT_WACK WACK
STAT DISK DLE EOT
STAT RVI RVI

STAT_UNKNOWN

/* */
/* */
/*

enum bsdstat

*/



d)raw

ioctl(FD, 10CTL_PCIBSC_RECVDATA,pcibsc_rw_t*)

typedef struct

{
unsigned long int stat; /* */
unsigned long int length; /* */
char *buffer; /* */

} pcibsc_rw_t;

pcibsc rw t stat enum bsdstat

( enum bsdstate )

STAT_ENQ STX ENQ

STAT_ABORT ETX ENQ

STAT _EOT EOT

STAT _TEXT raw

STX,ETX CRC raw
CRC ACKO/ACK1

rw.buffer = &text[0];
rw.length = TEXT SIZE*2;

rw.stat = 30; /* */
if(ioctl(fd, 10CTL_PCIBSC RECVDATA, &rw)<0)
{

fprintf(stderr,”10CTL_PCIBSC READ fail %s¥n",strerror(errno));
}
printf("rw.length %d¥n",rw.length );
printf("rw.stat %d¥n",rw.stat );



16
ioctl(FD, I0CTL_PCIBSC_DUMP_ALLOC, int)

ioctl (FD, I0CTL_PCIBSC_DUMP_GET,pcibsc_dump_t*)

int LSB
8bit R: T:

((st0<<24) | (st1<<16) | ((int)"R"<<8) | (data));
((st0<<24) | (st1<<16) | ((int)"T"<<8) | (data));

#define PCIBSC_INTRSTO RXFF  0x20

#define PCIBSC_INTRSTO RXFTO  0x10

#define PCIBSC_INTRSTO TXEMP  0x04

#define PCIBSC_INTRSTO_TXRDY  0x02

#define PCIBSC_INTRSTO RXRDY  0x01

#define PCIBSC_INTRSTL_CD 0x80
#define PCIBSC_INTRSTL RI 0x40
#define PCIBSC_INTRSTL_DSR 0x20
#define PCIBSC_INTRSTL_CTS 0x10
#define PCIBSC_INTRSTL_BRK 0x08
#define PCIBSC_INTRSTL_OVE 0x04
#define PCIBSC_INTRSTL_FE 0X02
#define PCIBSC_INTRSTL_PE 0x01

unsigned long int buffer[SIZE];
if(ioctl(fd, I0CTL_PCIBSC_DUMP_ALLOC,SIZE)<0)

{

fprintf(stderr,”ioctl fail %s¥n",strerror(errno));

dump.buffer = buffer;



dump.length = SIZE;
if(ioctl(fd, I0CTL_PCIBSC_DUMP_GET, &dump)<0)
{
fprintf(stderr,"#0 ioctl fail %s¥n",strerror(errno));
}
printf("'- dump.length %d¥n",dump.length);
for (i=0;i<dump.length;i++)

{
it ((buffer[1]&0xFF00)==("T"<<8))
printf('[%02x]",buffer[i] & Oxff);
else
printf("(%02x)" ,buffer[i] & Oxff);
it ((i%16)==15) printf("'¥n");
}

printf("'¥n™);

- dump.length 557

(32)(32) (2d) [32]1[32] [32][32]1 [10][70] [FF]1(32)(32)(10)(02)(00)(01)
(02)(03)(04)(05)(06) (07)(08)(09) (0a) (0b) (0c) (0d) (0e) (0F)(10) (10)
(11)(12) (13)(14)(15) (16) (17)(18) (19) (1a) (1b) (1c) (1d) (1e) (1) (20)
(21)(22)(23)(24)(25)(26) (27)(28) (29) (2a) (2b) (2c) (2d) (2e) (2) (30)
(31)(32)(33)(34)(35)(36) (37)(38)(39)(3a) (3b) (3c) (3d)(3e)(3F) (40)
(41)(42) (43)(44) (45) (46) (47)(48) (49) (4a) (4b) (4c) (4d) (4e) (41)(50)
(51)(52)(53)(54) (55) (56) (57) (58) (59) (5a) (5b) (5¢c) (5d) (5e) (5F) (60)
(61)(62)(63)(64)(65)(66)(67)(68)(69)(6a) (6b)(6C) (6d)(6€)(6F)(70)
(71 (72) (73)(74) (75) (76) (77) (78) (79) (Ta) (7Tb) (7c) (7d) (7e) (7F) (80)
(81)(82)(83)(84)(85)(86)(87)(88)(89)(8a)(8b)(8c)(8d)(8e)(8F)(90)
(91)(92)(93)(94) (95) (96) (97) (98) (99) (92) (9b) (9c) (9d) (9e) (9F) (a0)
(al)(a2)(a3)(a4)(a5)(ab)(ar)(a8)(a9)(aa)(ab)(ac)(ad)(ae)(af)(b0)
(b1) (b2) (b3) (b4) (b5) (b6) (b7) (b8) (h9) (ba) (bb) (bc) (bd) (be) (bF) (c0)
(c1)(c2)(c3)(c4)(c5)(c6)(c7)(c8)(c9)(ca)(ch)(cc)(cd)(ce)(cf)(do)
(d1) (d2) (d3)(d4) (d5) (d6) (d7) (d8) (d9) (da) (db) (dc) (dd) (de) (df) (e0)
(el)(e2)(e3)(e4) (e5)(e6)(e7)(e8) (e9) (ea) (eb) (ec) (ed) (ee) (ef) (T0)
(F1) (£2) (£3) (f4) (5) (f6) (F7) (8) (F9) (fa) (fb) (fc) (fd) (fe) () (10)
(26)(50) (99) [321[32][32][32] [10]1[61] [Ff]1(32)(32)(10)(02)(00)(01)
(02)(03)(04)(05)(06) (07)(08) (09) (0a) (0b) (0c) (0d) (0e) (0F) (10) (10)



(11)(12) (13)(14)(15) (16) (17)(18) (19) (1a) (1b) (1c) (1d) (1e) (1) (20)
(21)(22)(23)(24)(25) (26) (27)(28) (29) (2a) (2b) (2c) (2d) (2e) (2) (30)
(31)(32)(33)(34)(35)(36)(37)(38)(39)(3a) (3b) (3c) (3d)(3e) (3F) (40)
(41) (42) (43)(44) (45) (46) (47)(48) (49) (4a) (4b) (4c) (4d) (4e) (4F)(50)
(51)(52)(53)(54) (55) (56) (57) (58) (59) (5a) (5b) (5¢c) (5d) (5e) (5F) (60)
(61)(62)(63)(64)(65)(66)(67)(68)(69)(6a) (6b)(6C) (6d)(6€)(6F)(70)
(1) (72)(73)(74) (75) (76) (77) (78) (79) (Ta) (7Tb) (7c) (7d) (7e) (7)) (80)
(81)(82)(83)(84)(85)(86)(87)(88)(89)(8a)(8b)(8c)(8d)(8e)(8F)(90)
(91)(92)(93)(94)(95) (96) (97) (98) (99) (92) (9b) (9c) (9d) (9e) (9F) (a0)
(al)(a2)(a3)(a4)(adb)(ab)(ar)(a8)(a9)(aa)(ab)(ac)(ad)(ae)(af)(b0)
(b1) (b2) (b3) (b4) (b5) (b6) (b7) (b8) (h9) (ba) (bb) (bc) (bd) (be) (bF) (c0)
(c1)(c2)(c3)(c4)(c5)(c6)(c7)(c8)(c9)(ca)(ch)(cc)(cd)(ce)(cf)(do)
(d1) (d2) (d3)(d4) (d5) (d6) (d7) (d8) (d9) (da) (db) (dc) (dd) (de) (df) (e0)
(el)(e2)(e3)(e4)(e5)(e6)(e7)(e8) (e9) (ea) (eb) (ec) (ed) (ee) (ef) (T0)
(f1) (£2) (£3) (f4) (5) (f6) (F7) (£8) (F9) (fa) (fb) (fc) (fd) (fe) () (10)
(03)(91) (42)[32]1[32][32][32] [101[70] [FF1(32)(32) (37)
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P100

R?03

RO16

5020

R?0?
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€000

c000

D000

d?0?

?
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R?02
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R?03

ROO1

RO06

R?04
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E005/e005
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11011 . 11111“'11911 . "A" . "B" . 11011 . "D" . 11E11 . F"




1 2 3 4 5 6 7 8 9 | 10 | 11 | 12 | 13 |14 | 15 | 16
py
17 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 |30 | 31 | 32
YYYYMMDDHHMMSS
Y Y Y Y M M D D Ho|H M| M| S s
‘lPl!!
“00,’
0" (0x30)
0" (0x30)
0" (0x30)
110011_119911 100

YYYMMDDHHMMSS




( )
1 2 3 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 16
“R” “0” | “3”
N c1 c2
17 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 |30 | 31 32
1
33 | 34 | 35 | 36 | 37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 48
2
240 | 241 | 242 | 243 | 245 | 246 | 247 | 248 | 249 | 250 | 251 | 252 | 253 | 254 | 255 | 256
F
‘lR!!
N 1101111111.”11911’11A11’11B11,11C11,11D11’E11’l‘F11
‘l0311
0 (0x30)
0 (0x30)
C1 “0”’(0x30)=
“17(0x31)=
“27(0x32)=
“9”7(0x39)=
C2: “0”’(0x30)= / PAY
“17(0x31)= / PAY
“27(0x32)= / PAY
“3”(0x33)= / PAY
“4”(0x34)= PAY

» *(0x20)
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11

12

13

14

15

16

“R016”
0" (0x30)
» *(0x20)
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11
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16
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0" (0x30)=
1 (0x31)=
27 (0x32)=
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(stay)
[ 1 (departure)

(quick-check-out)

(out)
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C2:

““9”*(0x39)=

“0”(0x30)=  / PAY
“17(0x31)= /  PAY
“27(0x32)=  / PAY
“37(0x33)= /  PAY
“4(0x34)=  PAY
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